> library(MASS)

> data(faithful)

> faithful<-faithful[order(faithful$waiting),]

> attach(faithful)

> knots<-c(0,60,75) % solmut 60 ja 70 
> rhs<-function(x,c) ifelse (x>c,x-c,0)

> dm<-outer(waiting, knots, rhs) % selittajien matriisi
> g<-lm(eruptions~dm) % Pns-fit
> summary(g)

Call:

lm(formula = eruptions ~ dm)

Residuals:

    Min      1Q  Median      3Q     Max 

-1.3288 -0.2018 -0.0132  0.2488  1.1885 

Coefficients:

             Estimate Std. Error t value Pr(>|t|)    

(Intercept)  1.743701   0.433474   4.023 7.49e-05 ***

dm1          0.004848   0.008048   0.602    0.547    

dm2          0.147633   0.012554  11.760  < 2e-16 ***

dm3         -0.145383   0.010164 -14.304  < 2e-16 ***

---

Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1 

Residual standard error: 0.3717 on 268 degrees of freedom

Multiple R-Squared: 0.8951,     Adjusted R-squared: 0.894 

F-statistic: 762.6 on 3 and 268 DF,  p-value: < 2.2e-16 

> plot(eruptions~waiting)

> lines(waiting, predict(g))

> lines(smooth.spline(waiting,eruptions))
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> smooth.spline(waiting,eruptions)

Call:

smooth.spline(x = waiting, y = eruptions)

Smoothing Parameter  spar= 0.6414381  lambda= 0.001285959 (13 iterations) 

Equivalent Degrees of Freedom (Df): 8.181506 

Penalized Criterion: 6.781685 

GCV: 0.1410936 

>

